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Long-Answer Questions

1. State the differences between an element and a compound.

2. Give three points of difference between a mixture and a compound.-3|

3. Describe the separation of salt from sand. -2

Describe fractional distillation. — 27/

How would you separate the dyes of an ink? -2 8, 24

Describe two methods to separate iron filings and sulphur powder from a mixture of the two.=20

N o o

A mixture contains carbon, sulphur and nitre. How would you separate them? =3 |

Objective Questions

Choose the correct option.

1. Which of the following is an element?

\}a-)’Flydrogen (b) Salt

(c) Water (d) Glucose
2. Ammonium chloride can be separated from sand by
(a) decantation (b) fractional distillation
Wblimah‘on (d) chromatography

3. Common salt can be separated from sand by

(a) distillation

(b) fractional distillation
\erj/using water as a solvent
(d) using a separating funnel
4. For separating the components of which of the following mixtures can a separating funnel be used?
(a) Water + sodium chloride (b) Chalk + water
(c) Alcohol + water ' \jd')6i1 + water

5, The dyes of an ink are best separated by

(a) filtration
(c) fractional distillation \de{hromatography

(b) using a separating funnel
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Match columns A and B
B

A eOUS mixturl-3
(1) Sulphur

(1) Sugar

» T n
(a) A heterog€ i
(b) A homogeneot!s mixturc H

(c) An element

(1) Mud
(iv) Alloy (d) Acnmpnun-iz
Fill in the blanks, - - . | |
i ; like filtration, sublimatig
1. A . can be splitinto simpler substances by a [1’11)’5“:3‘1 means o n o
distillation. (mixfure/compound) s s gt )
2. The constituents of a compound are preseht in ...... proportion by

3. A fizzy drink is a ...... mixture. (homogcneous/ heterogeneous) .. 3516 faiaeiIe)
4. Two ... liquids may be separated by using a separating funnel. (miscl

Write ‘T for true and “F’ for false for the following statements.
. C’J'{ one. Folae
1. An element contains more than one type of atoms. =
Hawn
2. A compound contains only one type of atoms.-Folae
3. Air is a mixture of elements and compounds. - Thue
4. An alloy is a homogeneous mixture.~T Aue
5. Common salt is manufactured by the evaporation of sea water.— T e

,_I-_ m_
| Postscript!|
A Simple Experiment on Electrolysis

You can perform an interesting experiment on electrolysis at home.

Remove the plastic insulation from both ends of two copper
wires. The naked ends are a shining brown-red. Use a naked
end of one wire as the anode and that of the other as the
cathode. Introduce the two electrodes into a glass containing
distilled water. You can buy distilled water from a chemist's.
Connect the other ends of the two wires respectively to the
positive and negative terminals of a 3-volt battery. You will find
that no change takes place. This is because distilled water
does not allow an electric current to pass through it.

Now, pour a few drops of hydrochloric acid (bathroom acid)
into the distilled water and make the connections as before. ’
A gas begins to evolve at the cathode (negative electrode). The Fig. 3.14  Electrolysis of acidulated water
evolution becomes vigorous within a short while. The evolution

of gas at the anode (positive electrode) is relatively slow. What is happening is the electrolysis of acidulated water.

Stop the electrolysis after some time. Take out the electrodes and examine them. You will find that the anode has
become blackish. Why? On electrolysis, acidulated water gives hydrogen at the cathode and oxygen at the anod®
The oxygen reacts with the copper (of the anode) to form copper(ll) oxide, which is black.

Q



| h'-tm-m.u.l'mrumundﬂ and Mixtures

[ I‘ Liobig
\ \ & condensor

- I~

l 1

‘ Waler ( ':f

| oul N I
Distillation Waterin ||/

o | Receiver

Fig. 3.9 Distillation

This is how distilled water is prepared in
the laboratory.

7. Fractional distillation

LONG H

US)’ fractional distillation, we can separate
liquids which differ in their boiling points by
20°C or moreﬂ

Fractionating
column

Y

" TTTTITTITYT
Less volalila
liquid

More volatile
liquid

LS
AL

—

Liebig
condenser
/

Liquid
mixture

!
Water
out

S More
g volatile

liquid

\\_ﬂ /

— Sand ‘
bath LY
Water in

Receiver J .

Fig. 3.10 Fractional distillgtion

LON @

Ehe liquid mixture is boiled in the
distillation flask fitted with a fractionating
column and a Liebig condenser}Figure 3.10).

- 27
LONG @ -
vapours enter the fractmr'latmg
column, where the vapours of the higher-
boiling (i.c., less volatile) liquid condense
and trickle back into the distillation flask.
The vapours of the lower-boiling (i.¢., more
volatile) liquid, however, pass into the Liebig
condenser, where they condense—the liquid

The mixed

is collected in the receiver.

The temperature of the boiling mixture
remains constant till the lower-boiling liquid
distils completely. Then the temperature
again rises till the higher-boiling liquid starts
distilling. The receiver is quickly changed to
collect the higher-boiling liquid.

The liquids obtained by boiling a mixture
at different temperatures are called fractions
and the method of fractional distillation is
also called fractionation.

By this method, we can separate

* benzene (boiling point 80°C) from
toluene (boiling point 110°C),

¢ ethyl alcohol (boiling point 78 °C) from
water (boiling point 100°C), and

* petrol, diesel and kerosene from

crude oil.

8. Using a separating funnel

A separating funnel (Figure 3.11) is used to
separate two or more immiscible liquids. The
mixture is placed in a separating funnel and
allowed to stand. The different immiscible
liquids form separate layers, which can be
collected in different vessels one after the
other.

By this method, we can separate an oil,
benzene, toluene or ether from water.



Mixture of
b liquids

Fig. 3.11 A separating funnel

9. Sublimation

Using this method, we can separate a substance
that sublimes (e.g., ammonium chloride,
camphor or iodine) from one that does not
(e.g., salt, sand or chalk). A funnel is inverted
over the mixture placed in a china dish. A dry
test tube is also inverted over the outlet of
the funnel. The outlet of the funnel is loosely
plugged with cotton. The mixture is heated.

TE
oy
i

F Test tube

I

Funnel
i . o i
. ¥
N e

Mixiure of iodine
and common salt

Heat ——

Fig. 3.12 Sublimation

Fssential ICSE Chemistry for Cl

[By chromatographys

ass 8

ent vapourises an
) . ‘bIC comPOHL
'I;l'le sul(;:llim 1 lidify in the test tube and on the
the vap

cooler part 0

LDNG@

we can separate two g,
more solids from one another provided they
are soluble in the same- so]vent] The solven;
may be a pure liquid like water, alcohol o
acetone, or a mixture of two or more of these

10. Chromatography

F19- 313 (a) The set-up used in paper chromatography. (b) The

Folour of the ink from a green sketch pen separates
Into blue and yellow.
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1“"‘ method works on the |"l'int‘i|)|l' of

adsorption] One should understand  the
dl“l'rl'nt‘l'I‘l'!\\'l'l'n Jllkﬂl'l’l““n ‘""L‘I\.“ W\ P“' mn

In |'|l‘l\ul'll-l1|'ll'l['l a h“l\\h““ 0 }:l"..'ﬁ l‘*l“-'“_Y

distributed over the entire bulk of
substance, like dissolved
or carbon dioxide

another
arrin natural walter
nafizzy drink. Adsorption,
however, is a surface phenomenon, in which
a substance is held at the surface of another
by a weak force. An example is a dye held
on the surface of a fibre. The substance
that is adsorbed (e.g., a dye) is called the
adsorbate and the one at the surface of which
it is adsorbed (e.g., a fibre), the adsorbent. In
chromatography, we generally use cellulose,
silica or alumina as an adsorbent. Cellulose
is conveniently used in the form of blotting
paper, filter paper (generally Whatman 41)
or specially made chromatographic paper.
We will now discuss the technique of paper
chromatography.

You must have observed that a blotting
paper soaks a liquid that spreads fast over the
paper. The liquid moves even against gravity,
i.e, upwards on a vertically placed blotting

aper.
’ F_‘_ LoNG B)
'|A long strip of chromatographic paper or

of a good-quality filter paper is cut out. A drop
of a solution of the mixture (say the ink of a
green sketch pen) is placed about a centimetr
from one end of the strip and dried. A very
small amount of the solvent is taken in a jar.
The paper strip is suspended in the jar such
that the end near which the mixture is placed
just touches the solvent. The whole set-up is
left undisturbed. After some time, one can
observe that the green-ink spot has moved
up the strip and separated into two colours—
blue and yellow.\(In fact, the blue and yellow
make up the green.)

Flements, Compounds and Mixtures
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This happens hecause the different dyes

(pigments), i, the different  colouring
substances, are held (i.e., adsorbed) by the
adsorbent with different forces—some by
stronger and some by weaker forces. The
one that is held less strongly is driven faster
by the solvent than that held more strongly
by the adsorbent. As a result, the different
pigments move with different speeds over the
adsorbent surface under the influence of the
solvent. And so they get separated.

The array of colours on a chromatographic
paper is called a chromatogram. One can take
a mixture of inks of different colorus to have a
more colourful chromatogram.

The smaller strips of different colours are
now cut out from the main strip. And the
colouring matter can be obtained from each
strip by dissolving it out in the solvent and
evaporating the solvent.

In chromatography, the adsorbent part
is called the stationary phase and the things
that move, i.e., the solvent and the solution,
are collectively known as the mobile phase.
Different types of chromatographic techniques
havebeen developed and named on the basis of
the types of phases. Column chromatography
is a commonly used technique, in which the
stationary phase is a column of the adsorbent,
ie., the adsorbent is packed in a vertically
placed wide tube. Other well-known types are
gas-liquid Chromatngraphy (GLC) and high-
proficiency liquid chromatography (HPLC).

Separation Methods: A Summary

A summary of the methods of separation of the
components of mixtures is given in Table 3.3.
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Table 10
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MMethods af seprarabing the components

ot ittt s ol mdstires

Pype of vt
and methmwl

SevV g

Magnetic
separation

- Sublimation

Daissolution and
cvaporation

- Chromatography

Sedimentation
and decantation

2. Filtration

3. Distillation

Liquid mixture

1. Using a

separating
funnel

2. Fractional

distillation

When applicable

When the
particle
siees ol the
componenis
are ditterent

When

one ol the
constitients s
magnetic

When

one ol the
components
sublimes and
the other does
nol

When

one ol the
consliluents
s soluble

When the
whole mixture
Ix soluble

When the
mixture is
helerogeneous

do

When the
mixture is
homogencous
or heleroge-
neots

When the
liquids are
immiscible

When the
miscible
liquids differ
in boiling
point by 20 °C
or more

Ixample

Separating,

(1) bran from
o

(1) slomes
from sand

Separating
iron trom
sulphuy

Separating,
ammonium
chloride or
camphor
Lrom salt or
chalk

Separating,
sall or sugar
from sand

Separaling
pigments of
an ink or a
flower

Separating
sand or chalk
from water

do

Separating
water from
salt, sugar or
sand

Separating oil
from waler

Separating
(1) alcohol
from
waler
(i) benzene
from

toluene

S Ty fene 0 L i

Soparation of mixtures—a few examples

Through the (ollowing, examples, you wil
learn how to choose a method for separating

. ]
the components of a given mixture,

L. A sand-water mixture - Sand can be separated
from water by filtration or distillation, [n
distillation, the water distils out, leaving the
sand as residue,

2. A salt solution By distillation, the water can
be obtained as the L“.‘-ili“i‘!i‘l,' and the salt as the
residue, (By evaporation to dryness, the sall

can be obtained but the.water will be lost.)
LoNg  (3)

3. Asalt-sand mixture [The salt can be dissolved
in water and the sand filtered out. The filtrate,
on evaporation to dryness, yields the salt]

4. A sugar-chalk mixture Sugar is soluble in
waler but chalk is not. So, the sugar can be
dissolved out in water, leaving the chalk
behind. The mixture, on filtration, will give
the chalk as the residue and the filtrate,
on evaporation or crystallisation, will yicld
the sugar.

5. An iron filings-sawdust mixture As iron is
magnetic and sawdust is nol, magnetic
separation will be a convenient method to
separate them. :

| LoNG 6

—
6.[_I§n iron filings=sulphur mixture Two methods
can be used.

(i) Magnetic separation (Iron is magnetic
but sulphur is not.)

(ii) Dissolution of the sulphur in carbon
disulphide followed by the recovery
of the sulphur from the solution by
evaporation or ::rystallisatiolﬂ

7. A carbon-sulphur mixture Knowing that
sulphur is soluble in carbon disulphide but
carbon is nol, you can suggest the method.

8. A water-oil mixture As water and oil are
immiscible, they will form separate layers
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and can, therefore, be separated by using a
separating funnel.

Remember that, like oil, chloroform, carbon
tetrachloride and ether are also immiscible
with water. So, the method will be useful for
a mixture containing water and any of these
liquids. ‘

9. A benzene-toluene mixture As the difference
in the boiling points of benzene (80°C) and
toluene (110°C) is more than 20°C, the two
miscible liquids can be conveniently separated
by fractional distillation.

10. Anink-mixture By paper chromatography.

11. Asalt-sand-sulphur mixture Among the three
components, only sulphur is soluble in carbon
disulphide and only salt in water but sand in
neither of the two solvents. So, the sulphur
can be dissolved out in carbon disulphide.
From the residue containing salt and sand,
the salt can be dissolved out in water, leaving
the sand behind. The sulphur and salt can be
recovered from their solutions by evaporating
the solvents.

Alternatively, first the salt can be dissolved
out in water and then sulphur in carbon
disulphide.

LoNG

12. A carbon-sulphur-nitre mixture (gunpowder)
Lgunpowder is an explosive containing carbon,

« An element is a substance that cannot be s
represented by a symbol.

+ A compound is a substance
represented by a formula.

« The constituent elements of a compound

« can be separated from it only by a chemical
« are present in it only in a fixed proportion of

+ do not retain their properties in it.

—— T

‘--P_o'ints to Remember

- 3l
Lot (7)g
sulphur and potassium nitrate (nitre). Only
sulphur is soluble in carbon disulphide .?nd
only nitre in water. So, the sulphur and nitre
can be dissolved out successively in carbon
disulphide and water, and recovered from
the solutions by evaporating the solvents or
by crystallisation. After the final dissolution,
carbon will be left as the residue.

Alternatively, the nitre can be dissolved
out first and then the sulphur.

Difference between a Mixture and a Compound

We can now conclude that a mixture differs
from a compound as shown in Table 3.4.

LoNG, Am27y

vTable34 How a mixture differs from a compound

Mixture Compound

1. Itis an impure It is a pure substance.

substance.

The constituents must
be present in a fixed
proportion.

2. The components can
be present in any
proportion.

The constituents do not
show their individual
properties.

3. The components
show their individual
properties.

The constituents cannot
be separated by a
physical means.

4, The components can be
separated by a physical
means.

plit into simpler substances by a chemical means. It is

\

that can be split into simpler substances by a chemical means. It is

means and not by a physical means,

atoms and of mass, and
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an  elemen 3
nother atom (s) t combineg
ule of the eleme

'y are represented ag N

. 27 02, P2 and
spectively and are saiq tq

be diatomic.

1 atom of a noble-gas element, e.g.,
n (He), neon (Ne), argon (Ar), etc,,
highly inactive, does not combine with
atoms. Hence, a molecule of a noble
ntains only one atom of the elem

ent. In
words, noble gases are i yin

e atomicity of phosphorus i+ 4(P,) and
' sulphur is 8(S,).

alency of an Elemer::

e combining capacity of an : i« ont ok
er elements is known as its vaio oo

s given by the number o hydrogen
that one atom of the element combines
r displaces from a compound.

e atom of Cl combines with one atom of
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H to form one molecule of hydrogen chloride.
50, the valency of Cl is 1. But one atom each
of O, N and C combines with two, three and
four atoms of H to form a molecule of water,
ammonia and methane respectively. Hence,
the valencies of O, N and C are 2, 3 and 4
respectively, On the other hand, an atom of Na,
Mg and Al displaces one, two and three atoms
of H respectively fromanacid. So, the valencies
of Na, Mg and Al are 1,2,and 3 respectively.

Elements with valencies 1,2, 3, etc., are said
to be monovalent, divalent, trivalent, and so

On. The valencies of the first twenty elements,
1

e, those having atomic numbers 1 to 20, are
given in Table 5.1

Table 5.1 Valencies of the first twenty elements
__-_'_'_———u__‘__

Valency 1 2

3 4 3 2 E 0
H He
1 2
-‘gﬁ Li Be B ¢ N o F Ne
ﬂg 3 4 5 ¢ 7 g 9 10
ol
VYV gy
EE Na Mg Al s p S € Ar
A % 11 12 13 14 15 15 17 18
K Ca
19 20

'When elements are arranged in increasing
order of atomic number, we find that their

valencies are also arranged in an order, as
mentioned below.

.~ The valency gradually rises from 1 to 4
and then falls to 1 and finally to 0.

>The elements in a column have the
same valency. For example, Li, Na, and
K as well as F and Cl have the valency
1. Similariy, Be, Mg and Ca as well as
O and “ have the valency 2.

L.ona Aws@
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You will later learn that the above kind of
trend in a property is known as the periodic
nature or the periodicity of the property.
The term periodic means appearing at certain

intervals. Don’t you find that valency has a
periodic nature?

* The elements He, Ne and Ar do not
combine with other elements and are,
therefore, assigned the valency 0 (zero).
They are called noble-gas elementsj

Molecule Example
Monoatomic He, Ne, At
Diatomic H, N,, O, F,, Cl,
Ttriatomic 0O,

Tetraatomic P,
Octaatomic Sg

Formulae of Compounds Lm@(' @

You have learnt earlier that EI‘[E formula
of a binary compound (i.e., a compound
formed by only two elements) is obtained by
transposing the valencies] Thus, the formula
of the compound formed by the elements A
(valency y) and B (valency x) is A,B,.

y X
A<B, = A, B,

1. 2
v Na-~<_0, = Na,0

B, )
6 @  Cas<_Cl, => CaCl,
LoN .

2
v Al O, = Al,04

The numeral subscripts are divided by a
common factor, if any. For example,

2
O = GCO, = CO,

(ST

2
Ca O = (Ca,0, = Ca0O
3 3

Al N = ALN; = AIN

There are some exceptions, e.g., H,O,

Issential ICSE Chemistry for Class 8

(hydrogen peroxide), C,H, (aCEtylene) ‘
C,H,, (butane) in which the numera| SUbsc::pr'
are not divided by a common factor. YOuf
learn the reason in higher classes. 7

Variable valency

Some elements show variable Valency, :
Cu (1, 2), iron (2, 3), phosphorus (3, 5)
sulphur (2, 4, 6). The valency of such
element in a compound is often indj,
in Roman numerals in the name of
compound, as shown below.

2
Clu 0O = Cu,O copper(l) oxide

2 2

Cu O = CuO copper(l) oxide
2 2

Fe O = FeO
3 2

Fe O = Fe,O; iron(Il) oxide

iron(Il) oxide

As an exercis:. ~ou can guess the val
of P in PClL; and i, and those of S ir
SO; and SO,

Compounds coniair sdicals

You remember tiia:

a radical is a kind of entity that can be
atom with a charge on it or a group of ato

behaving as a singie atom with a charge
the group.

It has a valency which is the sam
charge (without sign).

Positive radicals (e.g, Na', K,
Mg™, Ca¥, Cu¥, Fe¥, Fe* an
combine with negative radicals (e.
OH’, NO;, HCO,_, CO%, SOz, !
and PO,”™) to form compounds. The
of such a compound can again be obt
transposing the valencies (i.e.,charges
sign) of the radicals and dividing the
of radicals by a common factor, if an
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Some examples are giyen below.
N& ™ Radicals Formula Nathe i
o St o NaOH Sodium hydroxide
St NO; KNO, Potassium nitrate
“Na*  HCO, NaHCO,  Sodium hydrogen-
carbonate
NH," NOj NH,NO;  Ammonium nitrate
Na'" CO;_ Na,CO;  Sodium carbonate
NH," 5042_ (NH,),SO, Ammonium sulphate
Ca?t 8D 42' CaSO, Calcium sulphate
Bt 80 42' FeSO, Iron(lI) sulphate
e S0 42_ Fe,(SO,), Iron(lil):s\ulphate
A" SO”  AL(SO,), Aluminium sulphate

E{adicals carry a charge over ’ch.c_'m’.lff'ur}cJ 1?11‘18®

compounds they form do not. The compounds
are electrically neutral. Hence, the positive
and negative radicals must be present in a
compound in such runibers that the opposite

(b) Na,CO,

(c) Al,(8O,)4

Fig. 5.1 Valency cards making up (a) Ca(OH),,
(b) Na,CO, and (c) Al,(SO,);

49

Loni () .
charges cancel cach other. For example, in Al,
(SO,),, the total positive charge is 2X3 = 6 for
two AI" jons and the total negative charge
is 3x2=6 for three SO ijons] You can
understand this by using valency cards also
as shown in Figure 5.1.

Chemical Equation

A chemical change, i.e., a chemical reaction, is
represented by a chemical equation. You know
that in a chemical reaction, the substances
we start with are called reactants and those
we end up with are called products. In an
equation, we mention the reactants on the left-
hand side and the products on the right-hand
side, with an arrow in between.

Reactants — products

In the previous class, you have learnt about
the word equations in which we mention the
reactants and products by name. Here, we
will learn writing equations using symbols
and formulae instead of words.

Equations Using Symbols and Formulae

Such equations are quantitative in nature and
much more informative than word equations.
They are written in the following three steps.

1. Writing the skeleton

The skeleton of an equation is first written
by noting the symbols and formulae of
the reactants on the left side and ‘those of
the products on the right side, with an arrow
in between.

For example, carbon, when bumt in a
sufficient supply of air, forms carbon dioxide.
The skeleton of the equation is written as
follows.

C+0, — €O,

But carbon, when burnt in an insufficient
supply of air, forms carbon monoxide. And
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Solution Let us now see if we can balance a
chemical equation without writing
the steps so elaborately.

The reactants and the product may
be written as follows.

Mg+0O, — MgO
Balance O: Mg+0, — 2MgO
Balance Mg: 2Mg + O, — 2MgO

Therefore, the balanced chemical
equation for the reaction is

2Mg+0, — 2MgO

On being strongly heated, potassium
chlorate (KCIO,) gives potassium
chloride and oxygen. Write a balanced
chemical equation for the reaction.

Solution The reactant and the products can
be written as follows.

KCIO, — KC1+0,
Balance O:
2KClO, — KC1+30,
Balance K and Cl:
2KCIO, — 2KCl + 30,
Hence, the balanced chemical
equation is

2KClO, — 2KCl+30,

Balance the equation

N,+H, — NH, Lo"‘\

Solution Balance N: N,+H, — 2NH,
Balance H: N, + 3H, — 2NH,
Thus, the balanced equation is

N, +3H, — 2NH,

Is the following equation balanced? If
not, balance it.

Na,CO;+HCl — NaCl + H,0 + co,

Solution The equation is not bahn
atom counts of Na, % Ceq s
two sides do not tally, o

Balance Na:
Na,CO, +HCl —,

ZNHCI -+ I~120 +0

Balance H and CI;
Na,CO, + 2HC] —.
2NaC] + H,0+
I-Ienc<-3, -l'he balanced chen;;
equation is :
Na,CO, +2HCl —

2NaCl+ H,0+(y

Making a Chemical Eqi:ation More Informat;;

A balanced chemical equation tells ys
many atoms and molecules of which reacta
give how many atoms of which produc
Had you known ti:e :asses of the atomsg
different elements, i ' could have calculate
the quantities too " .+ 2 substances. Keepin;
such calculations - ior higher classes, l¢
us learn here how - e a chemical equatior
more informative

/Mentioning the condii: . . and catalysts

The conditions under which a reaction
akes place and the ca talysts needed, if any,
are mentioned at the arrow—generally t

condition above and the catalyst below the
arrow.]

You have learnt earlier that

a catalyst is a substance that generally speeds

up a reaction without itself undergoing any
change.

Lo ,
[éometimes, the :@rn@ol or formula ¥

mentioned in square brackets at the arrow
indicate a catalyst})
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~/ﬂentioning the state

products S of the reactants and

The state of each reactant ang product is
mentioned along with jt, using the following

symbols:
Long @

(s) for the solid state
(1) for the liquid state
(g) for the gaseous state, and

(aq) for an aqueous solution

When these symbols are used, a downward
arrow (1) for a precipitate and an upward
arrow (1) for a gas on the product side are not
used. Instead, we use (s) for (1) and (g) for (1 ¥

@Ientioning the name and colour of a substance,
if needed

The name and/or colour of a substance is
mentioned, if needed, below the symbol or
formula of the substance in the equation—the
name outside and the colour within brackets:]

Examples

The following ex:iples will
informative a choriien:

show how
cquaiion becomes

LoNG@

when we include the points mentioned above.

1. Hydrogen reacts with chlorine in the
presence of light to form hydrogen
chloride gas.

H,(g)+Cl, (g) —#" 21CI(5)
2. When ignited, a mixture of hydrogen and

oxygen (in the volume ratio 2 : 1) explodes
to form water vapour.

@12(g)+02(g) L 2]-]20(gy Lot @

3. Solid potassium chlorate, when heated at
200-300°C in the presence of manganese
dioxide as catalyst, gives oxygen, leaving
behind a residue of potassium chloride.

[2_1(('_'103(5) L 2KCI(S)+30z(ng.,

MnO,
4. Carbon dioxide turns limewater milky. i
[Ca(OH), (ag) +CO, (g) — VA

limewaler

2

e
—

CaCO,(s) + HZO(Iﬂ
milky

5. A burning piece of magnesium continues
toburn in a jar of carbon dioxide, forming
white smoky magnesium oxide with
some black carbon particles.

2Mg(s) + CO,(g) —"— 2MgO(s)+ C
(white) (black)

= =

Points to Remember Ji

A symbol is an abbveviaiion of the name of an element. It consists of one or two letters of the English
or the Latin namee of the element.

The symbol of an element represents the element and one atom of it. More than one atom of an
element is indicated by a numeral subscript.

A formula represents a molecule of an element or a compound. It gives the rumber of atoms of the
same or different elements present in a molecule.

The combining capacity of an element with other elements is called its valency. 1t is given by the
number of H atoms that an atom of the element combines with or displaces from a compound.

The formula of a binary compound can be obtained by transposing the valencies of the elements,

The valency of a radical is the same as the charge on it without sign. So, the formula of a compound
containing radicals is obtained by transposing their valencies.
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3. Discuss how
formul

Objective Questions

Choose the correct option,

1. Which of the

(a) Fe (b) Cu
2. Which of the followin

(ollowing symbols is nol de

. the symbols and
you can make a balanced chemical equation convey more than 14
ac of the reactants and the products. Pg 82, 53

rived from the Latin name of the element?

WJ Cr (d) Pb

& symbols is derived from the Latin name of the clement?
(a) He

(b) Ne
3. Which element

(c) Mg \Ld)/Ag

among the ones appearing below is pentavalent?
(a) CaO

(b) NH,

4. What is the valency of Mg in Mg.N,?
()1 2

5. What is the value of x jn the foll

CaCO,(s) + xHC] (aq) — C

2

6., Which of the following is not a balan

(@) CaCO, — CaO + o,

(c) SO,+H,0 — H,50,

(@)1

Fill in the blanks.

fay

. Nitrogen is

o]

- One sulphate radical will take up
MnO.
. 2H,0, 2 - 21H,0+0,

catalyst

5]

i

ut

(c) MgSO, *("5)/]’ Cl;

(c)3 (d) 4

Owing equation?
aCl,(aq) +H,0(1) + CO,(g)

(©)3 (d) 4

ced chemical equation?

\PYZKCIO, — KC1+30,
(d) CO,+H,0 — H,CO,

i
...... in AIN. (monovalent/ trivalent)

P
sodium radical(s) to form sodium sulphate. (one/ two)

. Na,CO,+ZHCl — 2 NaCl +H,0+CO,

. & NaHCO, —"2'. Na,CO, +H,0 + Co,

Write “T” for true and “F’ for false for the following statements.

L. Ozone is a triatomic gas. > True.

.8
2. The atomicity of sulphuris 4.> False

3. One dipositive radical will require only one dinegative radical to form a compound > | rue.

zZeno VQI

4. A noble-gas element is monoatomic as well as monovalent, - Fal4e.

5. A substance in solution is indicated in a chemical equation by the symbol (s). @d}.) —> Falae

u
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| water, the dispersion medium, Similarly
at O VDS < L
alk (CaC0) OF BYPSUm (CaSO,.2H,0;
.[ul\l‘*“”'l* chalk), when stirred in water
: :LL.‘_‘[ quspension. ’

for asuspension, itisnotnecessary that the
;lhp'l“"‘i phase be a solid and the dispersion
" dium, 2 liquid. The suspensions of

. aliquid in a liquid, called an emulsion
(¢.g., an oil=water emulsion),

« a liquid in a gas, called fog (e.g., water
in air), and

« 2 solid in a gas, called smoke (e.g.,
carbon in air) are also quite common.

Fig. 8.3 Muddy water is a suspension.

The size of a dispersed particle in a
suspension is much larger than that of a solute
in a solution. It is 10°% m (i.e., a millionth of a
metre) or more in diameter.

A suspension is not transparent. And
the dispersed particles slowly settle down
because, being large, they are heavy too. You

R

Kl

must have seen that the soil settles down from
muddy water in a glass.

Colloids

A colloid is a homogeneous mixture of one or
more dispersed phases in a dispersion medium.

Milk is the most common example of
a colloid—butterfat globules dispersed in
water. Jam, jelly, whipped cream and gelatin
are also common examples of a colloid.

= o P, e - i

Fig. 8.4 Jamis a colloid.

Colloids are not transparent. And the
dispersed particles do not settle down.

The size of a dispersed particle is in
between those of a solute in a solution and
a dispersed particle in a suspension, .8
between 10~ m and 10° m (or greater than
1 nm and smaller than 1000 nm).

The characteristics of a solution, suspension
and colloid are given in Table 8.1

Table 8.1 Characteristics of a solution, suspension and colloid

Characteristic Solution Suspension Colloid
I Type of mixture Homogeneous Heterogeneous flomagensons
2. Settling of the solute/ Do not settle pettle ——
dispersed particles
\ ) transparent, Not transparent
3. Be Transparent Not ; PRrEnt
Behaviour towards light P scatters light scatters light
4. Size of the solute/ Smaller than 1 nm 10-% m or more Between 1079 m
(10 m) and J0 m

L dispersed particle

Scanned with CamScanner
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Hydrates

It has been found that whenever copper(Il)
sulphate 1S crystallised from an aqueous
solution, the crystals have the formula
Cus0,.5H,0. Similarly, iron(II) sulphate
crystallises from an aqueous solution as
FeSO,.7H,O. These water molecules appear
in the same number every time and are called
the water of crystallisation of a substance. And
the substances (generally salts) containing
such water molecules are called hydrates.
LONG @

[The water molecules associated with a substance
in a crystal and forming a part of the crystalline

structure are together referred to as water of
cr_\'stallisation]

A substance containing water of crystallisation
is called a hydrate.

Some examples are mentioned in Table 8.2.

Table 8.2 Some common hydrates

Hydrate
Washing soda

Formula
Na?_COJ.'LOHZO

Glauber’s salt Na,S0O,.10H,O

Calcium chloride hexahydrate ~ CaCl,.6H,0

White vitriol ZnSO,.7H,0
Blue vitriol CuSO,.5H,0
Green vitriol FeSO,.7H,0O
Epsom salt MgSO,.7H,0
Cobalt chloride dihydrate CoCl,.2H,0

The Loss of Water of Crystallisation on Heating

A hydrate, on being heated, loses its water of
crystallisation. And it has been observed that
it loses its crystalline structure too. You can
find this for yourself by doing the following
activity.

o @ 83

[T- ake a few crystals of blue vitriol in a dry test
tube and heat gently. You will observe that

* the salt will slowly lose its blue colour, turning
white,

* the crystals will crumble down to a powdery
substance, and

* some colourless liquid drops will collect in the
colder part of the test tube.

(Tests, which we will describe soon, indicate
that these are water drops.)

Cool the white powdery substance and moisten it
with a drop of water. The solid turns blue agairj

Water drops

Fig. 8.6 The blue vitriol crystals turn into a white powdery
anhydrous salt on being heated.

What happens during these changes can
be summarised as follows.

1. The blue copper(Il) sulphate
pentahydrate, on being heated, loses
the water molecules and changes to the
white anhydrous (meaning without water)
copper(ll) sulphate. And, on treatment

with water, the anhydrous salt changes
back to the hydrated salt.

-5H,0

//ml\
CUSD.‘ . 5H 20

Cuso,
Blue crystals v - Whiteapowder
+5H,0
2. The crystalline structure of the

hydrated salt is lost when it loses the
water molecules. Thus, the water of
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dissolved  hydrogencarbonates of calcium
and nmgnesivum. Permanent hardness is
caused by the dissolved sulphates and
chlorides of calcium and magnesium.

Softening of Water

If the hardness of water is removed, soft water is
produced and the process is called softening of
water.

EF he following methods are used to soften
water]]

¥ Boiling Temporarily hard water can be_
p— -
softened by boiling it.) When such water is
heated, the hydrogencarbonates of calcium
and magnesium are decomposed to the
carbonates. Being insoluble, the carbonates
precipitate out.
~Ca(HCO;), — CaCO;i + CO,t + H,0

calcium calcium
hydorgencarbonate carbonate
_2”Treating with _washing soda Permanent

_hardness of water is removed-f;y treating with
washing soda (Na,CO,.10H,0). A solution
of washing soda is added to the water, and
the carbonates of calcium and magnesium are

precipitated.

CaS0, + Na,CO; — CaCO;1 + Na,SO,
calcium sodium calcium sodium sulphate
sulphate carbonate carbonate (in solution)

2NaCl

sodium chloride
(in solution)

_aCl, + Na,CO, —~ CaCO; | +

calcium
carbonate

sodium
carbonate

calcium
chloride

jowe(—> 5. NoT SUITABLE

LoNﬁ

The sodium sulphate and sodium chloride
formed will not make the water hard.

Why is it necessary to soften water? , ., 6 @

E t is necessary to soften water because hard
water is unfit for most domestic and industrial

purposes.

_Jzﬁ—.la rd water is unfit for laundries/as it

4

(a) consumes too much soap, and

(b) leaves dirty stains of calcium and
magnesium salts of fatty acids on
cloth.

®

.ZfI:Iard water is not very suitable for
bathing] The precipitates of calcium and
magne§ium salts of fatty acids, formed on
reaction with soap, cause irritation of the
skin.

3Tt is not possible to properly cook hard
foodstuff, like pulses, in hard water]

,METhough not injurious to health, hard
water does not have an agreeable taste]

5. When used for industrial purposes
(mainly in boilers), hard water produces
white deposits of insoluble substances,
called scales. The scales consist mainly
of CaCO,, MgCO; and CaSO,. They
deposit on the walls of the boiler and do
not allow proper conduction of heat. They
also block the pipes, which may cause
serious accidents.

FoR . BolLERS

M Points

—

to Remember

ﬂIN "POWER PLANTS

« Water is known as a universal solvent. It dissolves more solutes than any other solvent does

« Waterisa polar molecule, having a slight positive charge on the hydrogen atoms and a slight negative
charge on the oxygen atom. This property helps it act as a good solvent.

« A solution is a homogeneous mixture of one or more solutes in a solvent

« A suspension is a heterogeneous mixture of one or more dispersed phases in a dispersion medium
= 4 o e .

« A colloid is a homogeneous mixture of one or more dispersed phases in a dispersion medium
¢ medium.
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Water

rainy season that it gets dissolved ang appears
0 have melted. However, refined table salt
joes not show this property as it does not
contain CaCl, or MgCl,. Similarly, solid
NaOH kept open in a beaker starts looking
watery within a few minutes. (Remember

that after a long time, NaOH reacts with
Jmospheric CO, also.)

e
v

2 Action of Metals and Metal
. Oxides on Water

R
-

Many metals and metal oxides react with
water. To understand these reactions, we
need to have an idea about the activity series.
Metals along with hydrogen have been
arranged according to their activity in this
series. The series consisting of some common
metals is given here.

The Action of Metals on Water

Whenever a metal reacts with Activity
water, it does so with a view K
to displacing hydrogen from Na
water. Obviously, only those Ca
metals can displace hydrogen Mg
from water which are more Al
active than hydrogen, ie., 7n
higher than hydrogen in the Fe
activity series. We can also Sn
understand that the more Pb
active the metal (ie., the H
higher the metal in the activity Cu
series), the more vigorous is Heg
its reaction with water. Ag
Au

We will discuss here
the action of potassium (K),
sodium (Na), calcium (Ca), magnesium (Mg)
and iron (Fe) on water. We should remember
that though tin (Sn) and lead (Pb) are higher

o
n

than hydrogen in the activity series, they do
not act on water.

Action of potassium and sodium on water

Among the common metals, potassium and
sodium are the most active ones. They are
soft and get quickly affected by the moisture
(and also oxygen) of the air and are, therefore,
preserved in kerosene.

A small piece of the metal is cut with a
knife, dried by pressing between the folds of
a filter paper and dropped into a trough of
water. We make the following observations
about the two metals.

Sodium The metal soon changes into a silvery
white globule that does not sink but darts
around on the surface. A hissing sound is
constantly heard. And a yellow spark flies
intermittently with a "‘pop”.

The resulting solution turns red litmus
blue and so it is alkaline.

We infer thatE;)dium reacts vigorously
with water to form sodium hydroxide and
liberate hydrogen. At the same time, the
reaction is highly exothermic and so the metal
melts to form a globule. &

2Na(s) +2H,0O(l) — 2NaOH(aq) + H,(g)

LONG

sodium sodium hydroxide hydrogen
(alkaline) l
Turns red Burns with [
litmus blue a ‘pop’ l

The hydrogen burns with a ‘pop’. And
yellow sparks are produced by small particles
of sodium. (Sodium imparts a yellow colour
to a flame. Throw some common salt, i.e.,
sodium chloride, into the flame of a kitchen
stove, and watch the colour imparted to the
flame. It is yellow. Also, doesn’t a sodium
vapour lamp have a yellow light?)
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Sodium

— Water

Fig. 8.8 Sodium reacts vigorously with cold water.

Potassium Potassium also reacts vigorously
and exothermically with water to form
potassium hydroxide and liberate hydrogen.
Due to the potassium hydroxide formed, the
resulting solution is alkaline and therefore
turns red litmus blue. The only difference from
the reaction of sodium is that the hydrogen
liberated burns with a violet flame. Potassium
imparts the violet colour to the flame.

2K(s) +2HOH(l) — 2KOH (aq) + H,(g)
potassium
hydroxide

potassium

The action of calcium on water

-

Calcium is heavier than water and a piece of

> themetalsinksinit. The evolution of hydrogen
Lor‘JGJ starts briskly but slows down soon as the

lime produced forms a coating on the metaD
Calcium hydroxide (slaked lime) is much less
soluble than sodium hydroxide or potassium
hydroxide and makes the solution turbid. The
solution is alkaline, turning red litmus blue.

«Ca(s)+2HOH(l) — Ca(OH),(aq) + Ha gﬂ

calcium calcium hydroxide
(alkaline)

The action of magnesium on water

Magnesium, being less active than calcium,
displaces hydrogen from water very slowly at
room temperature. However, the reaction is

fast with steam.

Mg +H,0 — MgO+H,

When magnesium powder is mixed with

water, the evolution of hydrogen starts slow]
and stops soon because the MgO formg
coating over the metal particles. But you can
verify for yourself how fast the reaction with
steam is.

m Boil some water in a conical flask to replace
the air inside with water vapour. Continue boiling and
introduce a burning piece of magnesium ribbon into the
mouth of the conical flask. The ribbon continues to burn
in steam/water vapour though the nature of the flame
changes. In air, magnesium burns with a dazzling white
flame, but in steam it gives a smaller, orange flame due
to the burning of the liberated hydrogen.

The particles of magnesium oxide falling into the
water make it alkaline—the solution or the mixture

turning red litmus blue.

\

|l Magnesium
-| H { ribbon
/o
/h b\
£ 1N
{ "—\}"_' Boiling water

Fig. 8.9 Magnesium continues to burn in steam.

The action of iron on water

Though iron is above hydrogen in the activity
series, it is much less active than magnesium.
Iron displaces hydrogen from water only
when steam is passed over the red-hot metal.
A black oxide triiron tetroxide (Fe;0,), also
called ferrosoferric oxide, is formed.

3Fe+4H,0 — Fe,0, + 4H,

iron  (steam) triiron tetroxide  hydrogen

(black)

(Triiron tetroxide is considered a mixed
oxide of iron(Il) and iron(Ill), i.e., FeO.Fe,05.)
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India in the Eighteenth Century

Time To Learn

I. Fill in the blanks:

1. Murshid Quli Khan became the independent ruler of Bengal and shifted his capital to

Murshidabad.
2. Chin Qilich Khan founded the Asaf Jahi dynasty in AD 1724.

3. Haider Ali was the ruler of Mysore.
4. Banda Bahadur was the leader of the Sikhs after the death of Guru Govind Singh.

5. Balaji Vishwanath was the first Peshwa.

II1. State whether the following statements are True or False:

1. The office of the Peshwas was always hereditary.

False.
2. In the Third Battle of Panipat, the Marathas fought with the Rajputs and the Jats.

False.
3. The later Mughal kings were able rulers.

False.
4. Safdar Jung was the first Nizam of Hyderabad.

False.
S. Jai Singh built an observatory (Jantar Mantar) and Pink City (Jaipur).

True.

Y GIVE REASONS

Answer: |.

The Marathas had established a Maratha Kingdom during the reign of Aurangzeb. They were very
powerful and with time and with the decline of the Mughals would have proved worthy , opponents
to the emerging British empire but the third Battle of Panipat (1761) sealed their fate. Ahmad
Shah Abdali, an Afghan . invader gave a crushing defeat to the forces of Peshwa Balaji Baji Rao. It
put an end to the Maratha power and their dream of ruling India. Thus, the way was proved for the

British East India Company to gain power and become supreme.

Question 2.
Independent states were formed in the 18th century.

The later Mughal rulers were so weak that they could not hold the provinces of the empire
together. These provinces were under Governors who were always engaged in wars. Gradually,
they took advantage of the situation of misrule and misgovemance by the central authority and
declared independence.Thus, Bengal, Hyderabad, Awadh Rohikhand became independent one after

the other.
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Question 1.

Identify him.
Answer:
Maharaja Ranjit Singh.
Question 2.
How did the unite the Sikhs in Punjab?
Answer:
Maharaja Ranjit Singh brought the whole area west of River Sutlej under his control and
established the Sikh kingdom in Punjab. He signed the Treaty of Amritsar (1809) with the British
which confirmed his conquests and established his sovereignty over the terrioty west of Satluj. It
was only after his death in 1839 that the British gained control over the Punjab.
. State whether the following statements are True or False:
1. The office of the Peshwas was always hereditary.
[ False.
2. In the Third Battle of Panipat, the Marathas fought with the Rajputs and the Jats.
False.
3. The later Mughal kings were able rulers.
False.
! 4. Safdar Jung was the first Nizam of Hyderabad.
False.
S. Jai Singh built an observatory (Jantar Mantar) and Pink City (Jaipur).
True.
a MATCHING =
1. Nizam-ul-Mulk (b) founded the state of
Hyderabad.
2. Shivaji (c) founder of the Maratha
power.
3. Tipu Sultan (a) Tiger of Mysore.
4. Gackwad (f) Baroda
S. Holkar (g) Indore
6. Scindia (h) Gwalior
7. Bhonsle (¢) Nagpur
8. Peshwa (i) Poona
9. Ranjit Singh (d) united the Sikhs on the west
of river Sutlej.
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IV. Answer the following questions:

Question 1.
write in brief the causes that led to the downfall of the Mughal empire.

Answer:
Causes that led to the downfall of Mughal Empire were

(a) Weak successors: After Aurangzeb’s death the Mugh empire started declining. His successors
were weak are were toys In the hands of nobles and Governors. The lacked the administrative

skills of their predecessors.

(b) Internal Rivalry: The nobles and Governors belonged different groups and were always
engaged in const? struggle for power. This hampered the growth of the emp

(<) Crisis in Jagirdari and Mansabdari system: The Mugh introduced the Jagirdari and the
mansabdari systems , smooth running of their administration but they only prov to be the cause of

the decline of their empire.

Question 2.
When and between whom was the Third Battle of Panipa fought? What were its results?

Answer:
The third battle of Panipat was fought in 1761 between Ahmad Shah Abdali, an Afghan invader and

Peshwa Balaji Baji Rao. The Peshwa suffered a crushing defeat and this put an end to the Maratha
power.

Question 3.
Name the first independent Nawab of Bengal. What were his achievements?

Answer:
Murshid Quli Khan became the first independent Nawab of Bengal. He established an efficient

administration and effectively organised the revenue system. He also started the new system of
land revenue collection, on the basis of contracts, known as [jara system. He reorganised the
zamindari for which he is will remembered in the history of Bengal.

Question 4.
When was the Battle of Plassey fought? What effect did it have on the position of the English East

India Company?

Answer:
The Battle of Plassey was fought in 1757 between the British and Siraj-ud-daulah In which the

English defeated the army of Siraj-ud-daulah. From then onwards the English East India Company
functioned as king makers In Bengal politics. Finally,the English established their full sway In 1765
when Robert Clive set up the Dual Government In Bengal.

Question 5.
Who was Haider All? Discuss his achievements,

Answer:
Hyder All was the ruler of Mysore. He started his career as an ordinary soldier In the Mysore army

He won many battles against the Marathas, the Nizam of Hyderabad and enem
consecutive Anglo-Mysore Wars, TG o

Question 6.
Which ruler was known as the Tiger of Mysore?

Answer:
TipuSultm,thesonandhelrofHalderAhmdmleromerelsmwnas“ngerofMW.

1]
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Question ).
When and how was the English East Indla Company formed?

Answer:

It was formed by a group of English merchants. The company received a charter from queen
Elizabeth 1 of England on December 31, 1600. Sir Thomas Roe got a farman from Jahangir In 1615
to establish a factory at Surat. The English traders from the very beginning tried to combine trade

with diplomacy. The English set up factories at Surat, Agra Ahmedabad, Broach, Hooghly,
Mgsulipatnam and Madras.

Question 2, .
What were the main reasons for Anglo-French rivalry In Indla?

Answer:

The French cherished the ambition of French Empire in India. But this ambition was challenged by

the English. This led to Anglo-French rivalry and the three Carnatic Wars.The French were defeated

?:cclll the English became Supreme in the South. From this base the English conquered the rest of
a.

Question =
What were the causes of Conflict between Siraj-ud-daulah and the English?

Answer:

The English built factories at Kassimbazar, Patna and in Bengal. In 1756 Siraj-ud-daulah came to
power. The company had started to fortify their settlements in Bengal. Siraj did not like it. Siraj
attacked and occupled the Fort William in Calcutta in 1756. The British defended under Clive and
Nawab was forced to come to terms. Nawab had to vacate Calcutta and also pay indemnity to the
British. Clive hatched a Conspiracy against the Nawab. The forces of the Nawab and the British
East India Company fought on the field of Plassey in 1757. The Nawab was defeated, captured and
killed.

Question 4.
Describe the circumstances that led to the Battle of Buxar.

m& objected to the misuse cf trade regulations. The abuse of duty free inland trade

adversely affected the revenue which was the only income of the Nawab. Mir Qasim took other
measures for consolidation of his administration, (a) training his army on European lines (b)
transfer of treasury from Murshidabad to Munghyr. The British did not like these administrative
steps. Under these circumstances, Nawab Mir Qasim challenged the company and a war broke out
between them. The Nawab was defeated and fled to Awadh. He formed an alliance with Shuja-ud-
daulah, the Nawab of Awadh and Shah Alam, the Mughal Emperor. The three forces met the British
at Buxar on October 22, 1764, This battle is known as Battle of Buxar. The British emerged
victorious. They made Mir Jaffar the Nawab of Bengal, the second time. The defeat in the battle of
Buxar finally sealed the fate of Indian rulers and made the English the supreme power in India.

3::::?.—3%113 causes of the Fourth Anglo-Mysore War? What were its results?

mty of Seringapattam was short lived. Lord Wellesley, the Governor General wanted the
ruler of Mysore, Tipu to accept the Subsidiary Alliance but Tipu refused to do so. Tipu sought
French help. The British feared that the French might land in support of Tipu. So in 1799, the
British went to war against Tipu. The Nizam joined the British but the Marathas remained neutral
and the French support never came. Tipu was killed in the battle on 4th May 1799.

I
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The Union Executive
Time To Learn

I. Fill in the blanks:

1. A person to be appointed a minister must be a member of either House of Parliament
2. The Prime Minister decides the business to be carried on by the Cabinet.

3. The Vice President is elected for a period of five years.

4. The Prime Minister distributes portfolios among the ministers.

5. The public servants constitute the permanent executives.

; Sl -

IL. Tick mark (v) the correct statements and cross mark (X) the wrong ones :

1. The Prime Minister is the vital link between the President and the Cabinet.
v

Z. The Prime Minister acts on the advice of the President.
X

3. A money bill cannot be introduced without the President’s authority.
v

4. The President can appoint anyone as the Prime Minister.
X

5. Most of the Civil Servants at the Centre are selected by the Union Public Service Commission.

.. MATCHING

Answer:

I. The Prime Minister (e¢) heads the Coucil of
Ministers.

2. The President (d) appoints the Prime Ministe)

5. The Cabinet (a) takes all important
decisions.

4. The Council of Ministers  (b) consisted of all the
Ministers.

5. A Department (¢) under the control of a
Minister is called portfolio.
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State two executive and two judicial powers of the President.Under what circumsta
Pruiduitpmdaimastateofemerqency? s s

Answer:
TmElmﬁwmder&ﬁMtare:

TwonalmersofmePresidemare:

1. He can pardon, remit or suspend a sentence of punishment given by a court martial or death

sentence passed by the court.
2. He is not answerable to any law court for the exercise of his powers, except in case of

impeachment in Parliament.

The President can declare emergency if:

1. Security of India is threatened.
2. There is a break down of the constitutional machinery in a state.

3. The financial stability of the country is threatened.

Do you think the President of India should be directly elected by the people? Why/why not?

Answer:
We have a system of government in which the Prime Minister is the most important person in the

government of the country, the President is only a nominal Head. If the President was to be
elected then he too would be equally important was powerful, Then there would be a clash of
powers. So, in my opinion it is preferable that the President should not be directly elected by the

people.
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Question 3.

what are the two main functions of the Cabinet?
Answer:
The two main functions of the Cabinet are:

1. All important decisions are taken by the cabinet ministers,
2. Cabinet formulates the policies and programmes of the government.

Question 4.

Name the three categories of the union ministers.
Answer:

The three categories of Ministers are:

1. Cabinet Ministers
2. Minister of State
3. Deputy Ministers

Question 5.
What is the position of the Prime Minister? Mention his powers.
Answer:

Leader of the political party or parties securing absolut

. Leader of the Lok Sabha.
Manages the affairs of the country both internal as well as extrenal.

1

2.

3. He is the chief spokesperson of the Government.
4

. |

e majority in the Lok Sabha.

. Selects other ministers.
. Distributes portfolios.

6. Can demand the resignation of any minister.
7. Advises the President on various appointments to important posts.
8. Presides over cabinet meetings.

Question 6.
Do you think the president of India should be directly elected by the people? Why/why not?
Answer:

which the Prime Minister is the most important person in t

We have a system of government in

government of the country, the Presi
elected then he too would be equally important w

powers. So, in my opinion it is preferable that the
people.

dent is only a nominal Head. If the President was to be
as powerful. Then there would be a clash of
President should not be directly elected by tF
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First term answer key 8th standard English language
Ch-11 comparison of adjectives

Pretty prettier prettiest

Sad sadder saddest

Happy happier happiest

Near nearer nearest

Late latter latest

Old older oldest

True truer truest

Bad worse worst

Emphatic more emphatic most emphatic
. Cold colder coldest
. High higher highest
. Wonderful more wonderful most wonderful
. Magnificent more magnificent most magnificent
. Yellow yellower yellowest
. Pleasant pleasanter pleasantest

WO N AE WM

I e
U D WN RO

Ex.2

1. Taller- degree of comparison

Strongest superlative degree

More useful superlative degree
Long positive degree

23 positive degree

Largest superlative degree
No positive degree

B) noisy Street

Delicious Apple
Clevermind

Religious nature

Honest dealing

Straight forward opinion
Pitiable condition
Intelligent fellow

Frank nature

W oo N AEWNE OOV R WN

. C)old ,Worried
2. 53
3. Superior



No

Many, March
All

Brighter
Strongest
Little

. Little
. Alittle
. Few

Ex- 3

©E NV A WNE

10.

Take the shorter of the two routes.

Many a man has ruined his career for want of a good guide.
No fewer than ten men were engaged.

This cloth is finer than that.

She is my elder sister.

He got passing mark in English.

Have a ten rupee note.

Both of his sons are doctors.

| prefer death to dishonor.

The climate of India is colder than that of Africa.

ACTIVE/ PASSIVE VOICE

EX-1

W oo N A WN e

[ O
A W N PP O

15.

16.

17.

He was kept waiting by me.

The lamb was frightened by the noise.

The orphans are being helped by the kind hearted woman.
A book has been chosen by Ram.

A job was offered to him by the officer.

Let the door be opened.

By whom are you taught English?

My proposal was objected to strongly by him

The snake was not killed by him.

. May this map be seen by me? Your servant must be rewarded for his courage by you.
. Let the horse be saddled by you.

. He was elected minister by them.

. A debate is being held in the school hall by the boys

. The application was forwarded to the headmaster by the teacher

A race was run by Atlanta.

Exile is not feared by her.

| am vexed by his behaviour.



18.

19.

WO NOU A WN R
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20.

L oo N E WD R

10.

11.

We are being watched by him.

Was the noon train caught by him?

Ex-2

His own friends are receiving him.

The people welcomed Prince Hamlet.

The sub committee has approved of the plant
Much anxiety has been caused to me.

The teacher granted permission to the student.
Have you carried out my orders?

They listened eagerly to the story.

The police carried home the wounded persons.
The washerman has not yet washed my clothes.

. The storm uprooted the tree.

. The singing of the birds greatly delighted us.
. My father give me a new watch.

. Columbus discovered America.

. We heard not a drum.

. Who wrote this piece of composition?

. They have cut the electric wires.

. In expectation are spent our lives.

. Let danger not daunt you.

. Has not gambling ruined many?

Into your confidence why should | not be taken?

Ch- 21 The Gerund
Ex-1
Telling gerund subject of the verb will not help
Coming gerund object of the preposition
Reading, writing gerund .object of the verb learn
Coming gerund subject of the verb cast
Burnt participle qualifying the noun child
gone participle qualifying the noun people
leaving gerund object of the verb will mind
running participle qualifying the noun tap.
Standing gerund subject of the verb knows
Amassing gerund object of the preposition in

crying and complement of verb.



Ex-2

Laughing is better than frowning.

To write a story is not easy.

He likes collecting books and does not like to give them away.

To fly kites is a favourite sport but betting on them is bad.

He loved reading and writing.

She likes to dance and sing.

To reach school in time is always his problem

Painting is good but to paint is not in his vein

To earn money is good but to spend always is undesirable.

10. To apologize for your misconduct is the only way of escaping punishment.

L oo N E WD R

Ch- The conjunctions

Ex-1
1. And coordinating conjunction
2. Before time subordinating conjunction
3. And cumulative coordinating conjunction therefore illative coordinating conjunctio
4. Unless condition subordinate conjunction
5. Neither nor alternative coordinating conjunction
1. ll- he touched neither food nor water.
2. He lost not only his bag but also his walking stick.
3. No sooner had he come then he was off again.
4. Scarcely had he gone when a postman knocked at his door.
5. Do like I do.
6. You must act as | tell you.
7. lcannot go to him unless he invites me.
8. Though his clothes were old and worn yet looked clean and of good quality.
9. He worked hard as until it grew dark.
10. Unless you tell me the truth I shall punish you.

Ex-2

Fill in the blanks with suitable conjunction
1. As
2. Until
3. Because
4. Though
5. But
6. As
7. Lest
8. Sothat
9. Allthe
10. Until

Il combine the sentences



L ooNOU R WN R

Take care of yourself or you will be ill.

He Deserted his brother because he was very proud.

You must do as you are told or you will be punished.

Although he tried to get up he could not.

The policeman ran after the thief but could not catch him.

Although you may not be successfully yet you out to attempt the questions.
Though all men were against doctor Johnson preserved.

Not only he but also you are honest.

Send me a Message and | will come at once

10.Lead me anywhere and | shall go.

[ SUITABLE CONJUNCTIONS OR RELATIVE PRONOUNS

1. Unless
2. And
3. Since
4, But
5. And
6. Lest
7. And
8. But
9. Till
10. Or
11. When
12. Than
Ch- transformation of sentences
Ex-2
Change the degree of comparison
1. Anasis not as intelligent as a horse (positive).
2. Afoolish friend is not as good as a wise enemy .( Positive)
3. No other seaport in India is better than Mumbai. ( comparative)
4. Very few other statemenof England were as great as disraeli (positive)
5. Hoshiyarpur is more fertile than most other districts (comparative)
6. Very few other poets are as great as Kalidas. No other poet is greater than Kalidas.
7. Dickens David Copperfield is the most popular book. Dickens David Copperfield is most
popular than most other books.
Gold is more precious than most metals. Few other metals are as precious as gold.
. Toactis not as easy as to speak. To speak is the easiest.
10. A horse cart is not as fast as a train. A train is the fastest.
11. I do not know you as well as he. He knows you best.
12. He knows you best. | do not know you as well as him.

13.

He is meaner than all men. No man is as mean as him.



Ex-4 change into passive form
| have been promised help by my friend.
We are taught history by Mr munshiram
Nothing could be done by the teacher
40 desks are contained in our classroom.
Is this gentleman known to you?
The humble should not be teased.
His brother is not cared for by him.
The boat is to be lowered by you.
The audience was very much impressed by Edmund Burke charming voice.
. Let a sheet of paper be brought from the office for me by you.
. It cannot be allowed by me.
. To build a bridge over the canal has been proposed by the government.
. He was chosen captain by them.
. Good news is expected by everyone.
. The police was ordered to open fire on the crowd by the magistrate.
. The accused should be handcuffed where the orders given immediately by the judge.
. Why is he laughed at by you?
. Where were you led by the man?
. Flattery from man is liked by women.
. Let the names now be called.

WO N AE WN R
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. How was this conclusion arrived at by you?

. Was the battle of Hastings won by the normans?

. Marry ‘s hand was claimed by William.

. The owner of driving the first ball was claimed by the captain.

. Many years ago cowboy going to the market was killed by a highwayman.
26. Let the work be stopped now.

N N NN
u b WN

Ex- b change into active form

1. Spread a carpet on the floor.

We must obey our parents.

I am lucky they tell me.

4.Murder and dacoity were the charges they were guilty of.
You like which of these pictures?

It is said Columbus discovered America.

w N

The company he keeps makes known a man.
On this matter the government has moved.
. The association compelled me to withdraw.
10. Liberty was granted to John Buryan.
11. The teacher found fault with his conduct.
12. Floods have interrupted the bus service.
13. They removed the injured to the hospital.
14. Safety of my brother has been confirmed by telegram.

4
5
6. Who Tested your reading and recitation?
7
8
9



15.
16.
17.
18.
19.
20.
21.
22.
23.
24,

Someone has broken my watch

Those who live in glass houses should not throw stones.
One must endure what one cannot cure.

Declare the innings closed now.

He was killed where?

Is suspicion of the murder on him?

The normans killed King Harold of England.

Imitate not the most he is.

Separation from each other is not possible in the case of the two sisters.
Lights off colour illuminated beautiful the college building.
26.Enemy action wrecked the ship.
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